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Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are requested

to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order & any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neitherthe Question
Booklet will be replaced nor any exkra tinte will be
given.

(iii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each item has four alternative responses marked (A), (B), (C)

and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : @ . @ {

where (C) is the correctiresponse.

Your responses to the iteéms are to be indicated in the OMR

Sheet given inside the Paper I Booklet only. If you mark

at any place other than'ta the circle in the OMR Sheet, it will

not be evaluated.
/Read instructions given ingide ¢arefully.

Rough Work is to be dongEn the end of this booklet.

If you write your Name, Roll Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space

allotted for the relevant entries, which may disclose your
identity,.or use abusive l'anguage or employ any other unfair
means such as change (:1)3 response by scratching or using
white fluid, you will render yourself liable to disqualification.

You have to return the'test question booklet and Original

OMRISheet to the invigilators at the end of the examination

compulsorily and must not carry it with you outside the

Examination Hall. You are, however, allowed to carry original

question beoklet and duplicate copy of OMR Sheet on

conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or log table etc., is prohibited.

. There is no negative marks for incorrect answers.

. In case of any discrepancy in the English and Hindi versions,

English version will be taken as final.
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FORENSIC SCIENCE
Paper - 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The jaws of a plier may slip while trying to loosen a tight knob. The type of tool marks on
the knob are

(A) Impression marks

(B) Striated marks

(C) Combination of impression and striated marks
(D) Repetitive marks

2.  In matching and comparing layers of two paint samples, which of the following is of great
value ?

(A) Surface discoloration

(B) Changes in tint due to weathering
(C) Layers of dirt

(D) All of the above

3.  The spacings in between the striations caused by a tool having thin cutting edge change
with
(A) Nature of teeth on the tool
(B) Angle of tilt
(C) Angle of progression
(D) Relative hardness of tool and surface

4.  ‘India Ink’ was invented in which of the following countries ?
(A) Egypt (B) India
(C) China (D) Syria

S.  Adding boron to molten glass
(A) makes it more stable to rapid temperature changes
(B) gives a greenish tint to the glass
(C) makes the glass more liquid like so that it flows
(D) has no effect on glass

6. Skatole is a characteristic odour of
(A) Urine (B) Feces
(C) Saliva (D) Semen
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=y fafa faa=
0A-uA - 11
TR : =0 TvT ° wE (50) T-foehedia U & | U U9 % &1 (2) ek T | |t I e € |

1. g2t [ & ST B AT HEH F THI ST F U HEeT Gohd € | e W SR % T fond
TR B § 2
(A) B e
(B) ¥RIER faem
(C) B 3R ¥RIER foe
(D) gt e

2. W & A B WA B HAR T o1 B T T T QDT 1 e @i ¢ ?
(A) WaE H fosH
(B) 3U&TET % HROT S| H UNecH
(C) el T
(D) ST @

3. Udel YN oot 3SR §RT 3= 4Tl & &S bl ST 71 | § fohdeh ST S5et STt & 2
(A) 3SR T STl & TR
(B) [ T HIU

(C) NI T Bl <h[Ul

(D) 3N 3R Gg JoTTcHeh ShgTa-

4. e T A MawHR = § F fohg 39T 1 g7 2
(A) e (B) ¥Ra
(©) i (D) i

5. Tgel gU oG | aRE fHae ¥ -
(A) @ ATIEM GTH IR % U S91&T feR & ST € |
(B) e ol & TT &l FAH AT T |
(C) hia & AT 59 41 a1 31 & T4 for ot sean & |
(D) IE W HE THE Tel T & |

6. THAA T T F oot oo T § ?

A) (B) #«
(C) ©R (D) o

www.examrace.com



7. Which part of the hair is used for DNA typing to establish identity ?
(A) Roots (B) Cuticles
(C) Medulla (D) All of the above

8.  Which of the following specific antibodies are produced when human serum is injcted into

animal ?
(A) IgM B) IgA
©) IgaG (D) Precipitins

9.  When hair follicles reach the top of the skin, the outerlayer begins to harden into
(A) Antigen (B) Keratin
(C) Telogen (D) Seratenin

10. In soaking method, the seminal stain is cut and soaked in
(A) Mineral water (B) MQ water
(C) Picric acid (D) Acidulated water

11. The term NCR in questioned document examination stands for which of the following ?
(A) No copy required (B) No carbon required

(C) No comparison required (D) No crossing required

12. The formation of final purple coloured product made as a result of reaction of amino acids
and ninhydrin is known as

(A) Gentian violet (B) Crystal violet
(C) Rutherford purple (D) Ruhemann’s purple

13. Ninhydrin method is used to develop latent fingerprint on porous surfaces like paper but
not preferred when paper has writings with ball point pen inks due to which of the
following reasons ?

(A) It bleaches writings

(B) It bleeds writings

(C) It changes colour of writings
(D) None of the above

14. Physical matching of torn pieces of paper can be performed by which of the following ?
(A) ESDA (B) VSC
(C) Poly light (D) Projectina Universal
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7. UEEH N HA % o0 S U T 2TEi & aTet (e o i & AT T STFRT TSR ST € 2
(A) = (B) 3ucern
(C) TS (D) ST &+

8. S9 AHE™ WRY H THRM U] FI oHIET AT § df FEfafad § @ w9 fafere mwfders
3T B & 2

(A) IgM B) IgA
(C) 1gG (D) vifufeTd
9. 9 HY % IHFHT T F SO TR T TETd &, O T WA FHE eI (T T F 1 97 Al § 2
(A) UISH (B) e
(C) ZefeH (D) AR
10.  fHT (- FA ATel) TGIa |, YT AT e 591 S & 31X e 7 & fopad e sty € 2
(A) G et (B) MQ
(C) Tuisher o1t (D) A STl
11. TS Joi TRIeT0T § U 9 7R U% 1 qcqd (e 8 F @ e ?
(A) A i e (B) ¥ e Neamats
(C) 1 R Roamrs (D) T It R
12. ST TEE 3R TSR o UAshal hele®d a9+ arel 310 ST T & Scd1S bl T el
S € 2
(A) ST a™ee (B) foheeet amaeie
(C) EIRE TUA (D) TEHA U

13. ST S WY TaE, Y W 9167 g 9 gRT fot@mae & ehdl €, W T SIS i ekt
e o [T FHRTEieT Usid & SUAT ol sRIgdT 8l ST ST ol HROT FEfarad § T i a1 e ?
(A) 3 for@rE o TRIA wa g |
(B) f@E H @I |
(C) 3 forareal i 7T 951 31 € |

(D) STYF | | HiE T |

14. HUTST & e §U THET I e Mo =1 § & fohaeh §RT Tohar ST Fehell & 9
(A) ESDA (B) VSC
(C) diter irge (D) WIS JHade
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15.

16.

17.

18.

19.

20.

21.

-—

Which of the following is the number of classes in which finger-prints can be classified
with the help of primary classification ?

(A) 1024 (B) 1044
(©) 1064 (D) 1084

The length of the human fetus at full term is
(A) 30 cms (B) 40 cms
(©) 50cms (D) 60cms

Barr and Bertram are associated with
(A) Nuclear sexing (B) Stature estimation
(C) Age estimation (D) Brain mapping

Karl-Pearson’s formula used in the determination of
(A) Age (B) Sex
(C) Stature (D) Personality

The ratio of length and breadth of the skull helps in the determination of
(A) Race (B) Stature
(C) Sex (D) Age

The time limit for exhumation in India is not later than

(A) 6 months (B) 6 years
(C) 60 years (D) No time limit
Match the following :
List -1 s~y List - II
(Colour change in { (Causative factor)
blood) |
a. Cherry réd_ i.  Cyanide
b.  Reddish pds g i Carbon monoxide
c Bright red iii.  Potassium chlorate
d Chocolate Brown iv.  Usual post-mortem
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15.

16.

17.

18.

19.

20.

21.

-—

TSI % TTATHe SiTeheoT ot TErIdT | S (-7 § & fehc at o farifra feram < ke & 2
(A) 1024 (B) 1044
(©) 1064 (D) 1084

TR A YOT Bl g 7= | I et gt & 2

(A) 3094 (B) 4034,

(C) 509 (D) 60T

I S T T § F foraeh 9 2§ 0

(A) iR for e (B) T I 3Theld
(C) ¥ &1 AThe A (D) 9 Afe

HIA-TERET B =1 B F fohaes ot 5 yai fhar S ¢ 2

(A) W (B) femr
(C) == (D) AT
FHUT i TS o TGS T S 7 § F fohareh HRor & erae g & 2
(A) Wi (B) =%
(C) fem (D) =g
IRT T I ! THg 1 He=ferad 5 & g 2
(A) 6TEH (B) 69
(C) 60° (D) &g Feiia wmar e =&t
Tt @1 et ifse —
wh-1{ el - 11

(TR | T fae) { (FTTEATEH HRT)
a. aﬁwﬁﬁi@ 1. RIERIES)
b. R S qiel) il STeA HIHAITES
c. OHFER (aﬁzia) iii.  OCREE TR
d. _ =HeIE 9 (TS SI3) iv. QT Y-

a b c d
(A) i i i v
B) ii i i iv
(©) i v il i
D) i iv i 1ii
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22,

23.

24.

25.

26.

27.

28.

29.

Frontal sinus has unique structure in every individual. It is found in
(A) Humerus (B) Sternum
(C) Skull (D) Pelvis

Positive identification cannot be achieved through
(A) Dental records

(B) Fingerprints

(C) DNA

(D) Somatometric measurements

Which of the following is not the objectives of forensic anthropology ?
(A) Field recovery

(B) Establish a biological profile

(C) To perform autopsy

(D) Identify trauma relevant to the manner of death

Which of the following is not useful for determining personal identification from skeleton
remains ?

(A) Dentition (B) Tattoo
(C) Bone disorder (D) Surgical implants

The following percentage of cooking gas forms explosive mixture with air
(A 2-7T% B) 13-17%
(©) 20-27% (D) 28-30%

Which of the following is permitted explosive ?
(A) TNT (B) ANFO
(C) RDX (D) PETN

A ball cartridge fired from a rifle is a cartridge loaded with
(A) A spherical ball (B) An armour piercing bullet
(C) An incendiary bullet (D) None of the above

The angle of rifling (0), pitch of rifling (/) and calibre of a rifle (d) are connected by the
following relation :

[ l
(A) d:ntane (B) d:ncote

d d
© l:ntane (D) l:ncote
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22,

23.

24.

25.

26.

27.

28.

29.

Tk AR | AT AEd (RRETe) ot SFRal ST gl & | 3 e o o STt €
(A) wIvEE (FHRE) (B) it
(C) gt (D) sifor

o

HFHRICHSE Ted Ffarad & §RT U el eidl &
(A) T R=@E

(B) 3FIer™M

(C) SiEm

(D) wmEeE 7T

=iterep ferfer AFafaRt 1 S2v e 8 @ e AT T 2

(A) &3 9 gam

(B) Sifass @ femor

(C) wa-wieT

(D) W AT AFGE STETT H TETH S o §og & HRT & ol TRt € |

AT ORI | TR T MR i & foIg F=ferad # § i 61 Suni Tel € ?

(A) TIRHE AT AT (B) AT

(C) ey Tl (D) 9o STRII0T
TR T T T B F Feem ufcrerd g o arer fetent foremiesy faspor s € 2
(A) 2-7% B) 13-17%

©) 20-27% (D) 28-30%

frfefad o @ i |1 @igd foenes & 2

(A) TNT (B) ANFO

(©) RDX (D) PETN

et §RT FEAT ST STeT Sifel hRAY e & 91e 8T (SR) &I &

(A) TR SeT (B) e T A€ ATt el

(C) T et (D) I9IF H I HIE T

<|:5%'|?v1*| Eal GbIUI.I(G), TR T 10 (1) 3T TgheT 1 Hetter (d) =1 5 F forg g @ S8 €2
(A) d:£tan9 B) dzicote

©) l:%tane (D) lzgcote
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30.

31.

32.

33.

34.

35.

36.

37.

38.

The internal cross-sectional diameter of the barrel of a 10-bore gun is

(A) more than that of 12-bore gun (B) less than that of 12-bore gun
(C) more than that of 8-bore gun (D) less than that of 20-bore gun
Crack is abused through

(A) Inhalation (B) Injection

(C) Snorting (D) Oral ingestion

Which of the following is a CNS depressant ?
(A) Methcathinone (B) Ecgonine
(C) Meprobamate (D) Methylphenidate

Which of the following screening test is recommended for organophosporous compounds ?
(A) Marquis’ test (B) Fraehde’s test
(C) Husemann’s test (D) Ammonium molybdate test

The main ingredients of mandrax is
(A) Meprobamate (B) Methaqualone
(C) Methaamphetamine (D) Methylphenidate

Which of the following drug is known as ‘Red Devils’ ?
(A) Secobarbital (B) Dextroprophoxyphene
(C) Pentazocine (D) Meprobamate

Which of the following is the complementary base-pairing in DNA ?
(A) G-A (B) C-T
© T-A (D) C-A

Restriction enzymes used in RFLP technique helps to
(A) Reduce the time for PCR reaction

(B) Reduce the DNA replication rate

(C) Cut DNA at specific sites

(D) Limit the amount of protein produced in a cell

Which of these portion of teeth is not preferred for blood-grouping by absorption-elution
technique ?

(A) Dental pulp (B) Denture
(C) Cementum (D) Enamel
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30.

31.

32.

33.

34.

3s.

36.

37.

38.

10-SIR <l 556 i TeT BT TN Ui TS o9 ¢
(A) 12 SR 5 & {STaT 8T & ST S

(B) 12 R 9<% & fo7aT & 399 HH

(C) 8R T5H & ST & 3T 3tk

(D) 20 IR 5 & ST & 399 H

Sheh o1 oG 1T ° 9§ TR e 9 B §edT € 2

(A) FETENT (B) TR W

(C) FHHH (D) TE@ &R

=1 & & B 1 U951 H AR AT BT ST AT ¢ ?

(A) T (B) U

(C) TuEHE (D) TR

=7 5 9 I 91 S WieT0T SRR FAISTh & [T STwid fohar S & 2
(A) TR TreTor (B) hTESH TRHeIuT

(C) &THT uRieTor (D) 3HIEH HifeTsge TRIeToT
AU I T GaeHh 7 § F S A1 8 2

(A) TUEEE (B) THemege™

(C) THaTTeherTER (D) TR

=1 9 9 B T gar I Sfaer & AW S S S § 2

(A) AR (B) SHASIIHIRIA

(C) eI (D) WsEHE

T TH Wb YR-JHSH (39 1R A F F i Qe ?

A) G-A B) C-T

© T-A (D) C-A

RFLP A-1eh § 30T {oha ST ot Rivgarer ustey e o 9 feraeh fote Feraar s € 2
(A) PCR Hffshan & foTT w0 5 &1

(B) S UA U WP 58 FH HAT

(C) fafere el W € uF T &l et

(D) HITSTRT | ST &1 et Wel ol T ot FirHd e

TSR ToheiTeh BT TR TEehoT & fere aiet o foret T ot e @t <t et €2
(A) T I (B) TR
(C) = (D) T
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39. The immunological test strips being used to confirm the presence of human blood has
(A) Only monoclonal antibodies
(B) Only polyclonal antibodies
(C) Both monoclonal and polyclonal antibodies
(D) None of the above

40. defined the role of DNA as the vehicle of generational transference of
heritable traits.
(A) Mendelian (B) Oswald Avery
(C) Alec Jeffrey’s (D) Butler

41. In Scanning Electron Microscope, the magnified image of a particle is formed by
(A) Primary electrons
(B) The secondary and back-scattered electrons
(C) X-rays generated when the electron beam strikes the particle
(D) All of the above

0.61 A
n sin 6

42. Let the resolving power of an objective lens be given by R =

where A is the wavelength of light used in illumination, n is the refractive index of object
space and 0 is half-angle of the outermost rays entering the lens, R can be increased by

(A) Increasing A, decreasing both n and 6
(B) Decreasing A, increasing both n and 6
(C) Increasing A, increasing both n and 6
(D) Decreasing A, decreasing both n and 6

43. The wavelength of waves associated with electrons accelerated through a potential
difference of ‘V’ volts is

(A) Directly proportional to V

(B) Directly proportional to \N
(C) Inversely proportional to V

(D) Inversely proportional to \N

44. In SEM, secondary elections
(A) strike the object releasing other elections.
(B) strike the object and then reflect off the surface.
(C) are emitted when a beam of primary electrons strike the object.

(D) are emitted by the nucleus of the various elements when the object is struck by a
beam of X-rays.
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39.

40.

41.

42.

43.

44.

HHE ToT S HISE il G A o oI ST 0 ST @l gAmarsise e fgqg § = § 9
T BT E ?

(A) FHIA FHFAR TS

(B) oheleT Gieiioii-iet Ueiaierd

(C) WA 3R Tl el TS 3T

(D) ST | W g Tl

FMTA TOT o HIEl & Ugl TIAR & 8% % €9 H S TF T &l s &l 7 7 F fhed
afeIfe fefa & 2

(A) TeforE (B) s Talt

(C) Tch STHHH (D) =&

SIS HISShIEhIT o Th{-7T |, THUT T STatee o f1 o & Tohgeh g7 ST & 9
(A) T oA

(B) Tediass qem uve Uehiol Toieeia
(C) ToiaeiA fohuT S 0T o AT <o TR THRI-3ST gor

(D) W o+t

T AT g d 1 P B R = oL

A = WEIE & oI JRnT T T UehTeT 1 OT-SE, n = SGYHS oivg i W HT ST
0 = HTgYHS o=g W YA Ll g5 ATUHaH G ATl (60T §RT ST 3T ST HioT, 7 R I
g & forw

(A) A TG ST T A ‘n’ TS ‘9 I HAT ST

(B) A I HETAT ST 31 3T ‘n’ T ‘9’ i ST ST

(C) A T ST 3R AT “n’ Te ‘Q” i FLrAT AT

(D) A I =R W S ST ‘0’ Te Q° T HET ST

V'’ Ao & foaTR §RT TITARieT [T §U Soiae™ | Wardd ol o auTeed e § ¥ 3 8T ¢ 2
(A) 'V % STHAFIT eIl & |
(B) [V % SFIFHI &l € |
(C) V& FhAMI 8T ¥ |
(D) [V & ShHaE BT & |

SEM # fgiiaes setee e

(A) T TOFI Bigd el T T TER Hd € |

(B) %] W WER X ¢ 3R T g i TR i & |

(C) T WTeIHeh ST st TohR0T o TR Ve el & ol SoaroTd aid & |

(D) ST9 g% W UFI-Y T 0T §RT UER &Il & af faf= dedi o e () §T Searerd erd
T

D-82-14 13 Paper-11
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45.

46.

47.

48.

49.

50.

A substance that behaves in the same way to light polarised in any direction is
(A) Isotropic (B) Anisotope
(C) Anisotropic (D) Divergent

Which of the following witness can be asked a leading question during examination
in-chief ?

(A) Expert witness (B) Common witness

(C) Juvenile witness (D) Hostile witness

Which of the following courts is an Appellate Court ?
(A) IClass Judicial Magistrate (B) I Class Judicial Magistrate
(C) District and Sessions (D) High

Making false statements under oath amounts to
(A) Buggery (B) Perjury
(C) Eonism (D) Deposition

DNA fingerprinting evidence in Indian courts has been accepted as evidence under which
of the following Indian Evidence Act ?

(A) S.45 (B) S.48
(©) S.50 (D) S.51
Match the following :
List - 1 « " List-Tn
a. 376 (A) 1. Intercourse by any hospital staff
b. 376 (B) 11-'t Ihnt,ercourse by jail superintendent on
. inmates
c. 376(C) | iii. Intercourse by a public servant with
“4 a woman in his custody

d. 376 (D) 4. iv.  Intercourse by a man with his wife
‘ during separation
Codes :

A i i i v
@) i iv i iii
©) i i i iv

D) iv i il i
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45.

46.

47.

48.

49.

50.

T ORTe S o feRet ot fov | gfoa veer & Ui U &1 oRE | SR AT §, T 2

(A) FTEEETS (B) M@

(C) TR (D) TS

frefefad § @ fg TaTe ¥ USITHRSE - 37 - 9% & 3R W U9 UST ST 6l & 2
UNIRCRERRICIES (B) T TATE

(C) foemR TamE (D) ot T
frfefaa & @ = a1 = i (37T =mEed € 2

(A) 1] =T 30 SR (B) Il F18 =1fae 3ug AR
(C) e ue & (D) S=a

3197 R 3T T e s 9 et € 2

(A) P YT (B) & HEw
(C) zaifsH (D) g (Feuifsem)

IRAE el B € U7 T S[-810 9 & Hefaied 4 9 59 arde 9 stEg &
T TR fopar T € 2

(A) S.45 (B) S.48

© S.50 D) S.51

EN -1 ‘J ‘qﬁ_ll
376 (T) i oA % feRd off SUER g AYA
b. 376 () e FHRTE & R8T §RT T8l & Hanaar &
{ g
c. 376 (H) f i aﬂwwﬂmaﬁwﬁw%
iy T
d. 376 (3 iv. o9 ERT 310 T o A gery-fowE
| ERE B

A i i i v
@) i iv i iii
©) i i i iv
D) iv i i i
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